Test   Sections 8.1 – 8.3    A.P. Calculus    Mr. Pleacher  Name _____________________

I. Multiple Choice

__________  1.  
[image: image1.wmf]2

dx

100-x

=

ó

ô

õ


                        
[image: image2.wmf](

)

(

)

(

)

2

21

1

10

1

1

10

1

10

A)   ln100

B)   100

C)   

D)   

E)   None of the above

x

xC

xC

TanxC

SinC

-

-

-

-+

-+

+

+


__________  2.  
[image: image3.wmf]3

6

1

x

x

edx

e

+

ó

ô

õ

  =

                            A)  
[image: image4.wmf]6

ln1

x

eC

++

       

                            B)  
[image: image5.wmf]6

2ln1

x

eC

++

       

                            C)  
[image: image6.wmf](

)

16

1

6

x

TaneC

-

+

 

                            D)  
[image: image7.wmf](

)

13

1

3

x

TaneC

-

+

          

                            E)  None of these
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II.  Free Response

Determine the value of the following integrals:
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